S FY-35

FIRST YEAR HIGHER SECONDARY EXAMINATION, JUNE 2022

Part — 111 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores

General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries 1 score. (10 x1=10)

1.  Which among the following is a social infrastructure ?
(a) Roads (b) Health system

(c) Power stations (d) Railways

2. Identify the factor responsible for land degradation.
(a) Deforestation (b)  Proper crop rotation

(¢) Organic farming (d) Well managed irrigation

3. Pre-testing of the questionnaire is known as
(a) Sample survey (b) Population
(c) Census (d) Pilot survey

4. Which average is affected most by the presence of extreme items ?
(a) Median (b) Mode
(c) Arithmetic Mean (d) Standard Deviation

5. Which among the following countries has the highest urbanization ?
(a) India (b) China
(c) Sri Lanka (d) Pakistan

6.  The range of simple correlation coefficient is
(a) zero to infinity (b) —-1to+1
(c) zero (d +lto+2

7. Dadabhai Naoroji was associated with
(a) Sen Index (b) Jail cost of living
(c) Poverty gap index (d) Squared poverty gap

8. Population classified on the basis of gender is an example of
(a) Quantitative classification (b) Qualitative classification

(c) Chronological classification (d) Spatial classification
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1 2)®@8 12 21600388 ¢210346BE13 ago®EsIeno 10 af)aNABIM 2OMOOAH; D).

1 aves03 afloo. (10x1=10)
1. 210165 M@WSIVIFHBBAUDI @ TVLOMNAOIB AIURIIGE! TVDGHOIBBSIE3 HAISIAN®) :

(a) GOOAW)BHUD (b) ®REEINY AVoalWIMo

(c) eeaBy® MleIweanUd (d) eoxlddcal

2. ogrled @Rala Q@AM G0E6MA0AIM *LISdo @Bl |Clw)d.
(a) ammudlaemo
(b) @all®20® allgasge
(c) 06R0l dyaHl
(d) oall®ao® Reiecavalm aLoallwomoe

3. €a101ellwies m)m $)SlES oIdlauemo GRGIWea|SIAMN®.
(a) avomil’d avdaal (b) avacumo
(c) eavmdavav (d) a1dlaen avdeal

4. @RQMEIEIBRINS TLIATIW o aBQAAWldo MIDWIBNAND) aBE VOINCIOHWIET ?
(a) owpPso (b) enIaO)EIBo
(c) aVAMOERIWYe (d) @0me AI@IIMo

5. MUVOAI®GHOMo aBOlo H)S)DENSBH 0030
(a) epamy (b) ©&a21m
(c) Wwlem (d) as08slunoad

6.  CHAILI MVaOMINL NFIMIBADBIAAF QIYalG]]
(@)  anRio M@ BRMADAET (b) -1 mo>ad+ 1 aeo
(c) anmo (d +1 oay®»@3 + 2 e

7. BOBIMIOD MAICOOEWIAOWV] MIMLOQ|S® :
(a)  eaLad HMBAE,
(b) =W Llallmeaieial” quv)aile
(€)  Ga10QIBS) WYPaT EMBAE
(d) @AW caldaldgl Wyl

8. elweesomilond @RSINOOMOTIGE  2RMAVoAIIO®  AUBHIBAIENIN®  2l)016S
MBS VAT BN OBOaOEMAIEM.

(a)  aldl20eMOoGAD> AUBYlB0Mo (b)  vEMoTRS, AIBYH:06Mo

(€)  @ORIMAVY® AIBYBOEMo (d)  auoodil aidyle-oamo
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Which among the following facilitates the institutions that come under the health

sector ?
(a) AICTE (b) UGC
(c) ICMR (d) NCERT

A consumer price index measures changes in

(a) Retail price (b) Wholesale price

(c) Producer price (d)  Share price

Which among the following is known as World Bank ?
(a) International Monetary Fund (IMF)

(b) Bank of England (BoE)

(c) Asian Development Bank (ADB)

(d) International Bank for Reconstruction and Development (IBRD)

The most important characteristic of India’s foreign trade under the British Colonial

rule was
(a) large export surplus (b) large export deficit
(c) large export of capital goods (d) large import of raw materials

Answer any 6 questions from 13 to 21. Each carries 2 scores.

Distinguish between sample survey and census.

Mention the aims of World Trade Organization (WTO).

What do you mean by jobless growth ?

List any 4 steps towards making a project.

Mention any two uses of Index number.

What do you mean by continuous variable ? Give two examples.
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9. anales O@RBHIAIGENMAIRIG  BRYEEIWY  CALIYIOLI  ALNJAIMEBOS

W@ EMNM@
(a) AICTE (b) UGC
(c) ICMR (d) NCERT

10.  ag® afleiagl@d 9meoaam KOOGS DalCRIG®S Aflel AV)alld GRESMM® ?
(@) aflgjo alleisglod (b) o200 alleidslod
() 92e26a0)0s allelxslod (d) 830000l afleissl@d

11. 21016 MGHWAIDIGE CRIDHHMIO: )N BROIWEQ|SIANEY
(@)  eDABAMIHEM@3 ca06emQal anene (IMF)
(b)  en108; B30an gnoene (BoE)
(€)  aBauyMB AalLlaieAag i (ADB)
(d)  DBAMOHEM@3 61128 EGan0A SldheNd(MRBUB @YW awalelajeaad (IBRD)

12, @nilglad  ¢08M1  @EeMBOLIOO™ MW  AllcBUd  AIPAIEANO  (I1WIM
LA GUOAH® :
(@) aelo g 2lajo
(b) aelo segaci el
()  MPILDM AUMBNBOS QAUMBECOIDILNSB HOYAG]

(d)  @RIVLAPI® AUTVIHOBOS QAIMBEDITIILNBS HQPAG)

13 2)®@3 21 2190W}BS ¢21083BSEG3 aBo®BIEN0 6 af)ANAVIM DOMOHAY ).
2 UeH»oA allmo. (6x2=12)
13.  avomilyd av@eal &aALMaAVAV ag)alal cABGIBlalolW)d.

14, ceI0& a1§0a100 MVoeLISMW)ES (WTO) eiauiemndd av)aila loe)d.
15, o®0¥l@3 0adl® aI8da (jobless growth) ag)an@ 6)@06Ne’ GRAGOAIBHNIMO® D ?
16.  80) G I10REG GWONIHNMBIMBS aBO@EBIL10 4 CLISEBUD alSlHe1a |S)OTD)D.

17, a0)al@08am8)0S 0ME DalcINEBUd V) lla{lo)s.

18.  ALAN®2IEEBBUWB af)AN® HBHNE BRABNAILNMO@ID ? Q6N DBIAOVEMEIBUD
M @D,
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19.

20.

21.

22.

23.

24.

25.

26.

27.

List the goals of five year plans in India.

Classify the following into absolute and relative measures of dispersion :

Range, Coefficient of Variation, Coefficient of Range, Standard Deviation.

List any two livelihood options for the rural people other than agriculture.

Answer any 5 questions from 22 to 28. Each carries 3 scores.

elucidate the role of Statistics in Economics.

(5 x 3=15)

Mention any three points one should keep in mind while preparing a questionnaire for
data collection.

Prepare a short note on Green Revolution.

Calculate Range and Coefficient of Range :

Mention any three issues in the construction of index numbers.

Class frequency
0-10 2
10-20 4
20-30 8
30-40 3
40 -50 1

Classify the following economic activities into primary sector, secondary sector and
service sector :

(2)
(b)
(©)
(d)
(e)
)
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Electricity, gas and water supply
Agriculture

Trade

Construction

Transport and storage

Manufacturing



19.

20.

21.

22.

23.

24.

25.

26.

27.

EDO® (B alENIAIBTVO alBLBGIDHBIOS LIGHH BB alSldhea|SIOTD .
21)A1eS  MBBIVNCIENMAUOD  CHAE!  (IHSIBODM  QOMEBUD,  @R)YGCaIdUlD
(IHIBBHM AOMEIBUB af)aTIEBBOHM @00 WIBIH)D :

cOeL, QIYTIIMETNO 1Mo COTRNHAZ M0, AOME, AT WIMo.

B HlLPO® (IdleM BOHGOWIES aBO@BIL1) 0Ne Edlalemoaldw] aodyemyd ellqy’
012 1Q))>.

22 2)®@3 28 1160W)BB G133 aBO®BILN0 5 g INOTIM DOMOHA) ).
3 aved®9a@ allmo. (5x3=15)

TLOMIGTTIB> YOI (TRDTTIGE AVIA BTN 8 AIYANAIHE ).

afla1ecuoaEeM@IMO] G218 aIell  @QYI0IEMNEMUIWDB  aldlvamicanae man
HOQEBU ML) fla {loe).

20@l® aflaigaIOE® 3)Gla] 630} G)Tla] ®QYI0IBe)H:.

coe, GO 63 1)EMOB0 af)aTIal BH0eM)

oAV | @RAIYO
0-10 2

10 -20 4

20-30 8

30-40 3

40 - 50 1

V)2 18,08 MRAGIVENSS aBO@ IR MAN (1 1¢YEIBUB AV)a fla{loe)d:.

21)QAIS MBBHIVIFBB TLINUTTND  (AIAUBBTHIMEMOS (A OLOAS caalel, B{loilw
G2RIL!, GILAIM CARIL! af)aTlEBOM AIBLBAEH): |

(@)  eeaIB®I, VPV, Relallmosmo
(b) @yl

(c) QIPald0o

(d) dB2moem (alIB@DHMo

() VI MVEROMANL

(f) oejom mldomosemo.
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28.

29.

30.

31.

32.

33.

34.

35.

Construct a Pie diagram from the following data :

Materials used for the Cost of material in
construction of a building percentage
Cement 30
Bricks 40
M Sand 20
Miscellaneous 10
Answer any 3 questions from 29 to 33. Each carries 4 scores. (Bx4=12)

With the help of scatter diagram, elucidate positive correlation, negative correlation,
perfect positive correlation and perfect negative correlation.

Explain the causes of stagnation in the Indian agricultural sector under the British
Colonial rule.

(a) Distinguish between inclusive form of class interval and exclusive form of class
interval.

(b) Identify the type of class interval from the following :

A B
0-10 0-10
10 -20 11-20
20-30 21-30
30-40 31-40

Explain the development strategies adopted by China.

Mention the four measures that were initiated to improve the agricultural marketing
system in India.

Answer any 3 questions from 34 to 38. Each carries 5 scores. B x5=15)

Analyze the sources of human capital formation in India.

Calculate Standard Deviation and Co-efficient of Variation from the following :
10, 12, 14, 13, 16
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28.

29.

30.

31.

32.

33.

34.

35.

21)Q16S MWHIWV]FBB BOMOBUB DaICRIUT 2] Ol WD(No QAUQBND :

830) 63gls MBiGilenodl | Mldanoem avon(Uila:8)6s
Dal6WIUIla] MVORWBUB e2121Q1 YOG TI

ailaad 30

Doyl 40

M avoadaw’ 20

alflald, 10

29 2)®@3 33 AHEWBB G133 aBO®BILN0 3 af)INAVIM DOMOHA) @),
4 aved9Ad allmo. (B x4=12)

Mog8  WRWOTIOM  TVEOOVWEBTMINS  GaldaUlglal’  aLaoeITWoe,  aMWGlal
MLaOMITMWo, al)@em  caloaUldlal’ aLaoMITWo, al)dem emwglal’ aVaomITWwo
ag)mIQl QIYBDRILN) .

Enfiglay’ cHO8M  ROIMSILIOD MMMV HOBaHld  caaleidioer Moslajlomd
&OQEMEBUD QlUdBAIBN ).

(a) 2UBEaIASH@ dlTlenss Hoav gseals, s¥laeed doldlenss oy’
DSCAIS af)anlal GAIRGIAlo 01w B,

(b) 21016 MBHIVIBNENAN HOTV NSEAUBDHUB aB® ®OAINEMAN @@l |Gl :

A B
0-10 0-10
10 -20 11-20
20-30 21-30
30-40 31-40

©621M AV[l&@12] AlldaVm @E@MEBU3 Al VOBROEN ).

O fleel »0BaHld allaleMm®  TVANWOMEBUY HN2Ha|SIOMONE @RAILIoMIla)
MLl 20BYEBUB V)a fla floe)d .

34 m)®@3 38 A160WBS ¢21033MSEG8 aBO®BILN0 3 AfENOTIM DTNOOAYI®)c>.
5 avea®0a allmo. (B x5=15)

SHAMYIELI AMYaUIMEIWM V|0 ITMOINR DOAISERUB QANlVdRHLIMo 612 1Q))d:.

20N AY@IWOMo ATIVOMATONZ NEMNIB0 af)MVIAI BHEMINON)D>
10, 12, 14, 13, 16
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36. Prepare a note on sources of energy.

37. Draw ‘less than’ ogive and ‘more than’ ogive from the following data :

Class frequency
0-10 5
10 -20 10
20-30 15
30-40 20
40 -50 10
50 -60 10

38. Explain the tax reforms and financial sector reforms as a part of liberalization policy

measures introduced in India during 1990s.

Answer any 2 questions from 39 to 41. Each carries 8 scores.

39. Analyse the strategies for sustainable development.

40. Calculate Mean and Median from the following :

Class frequency
0-20 2
20-40 6
40 - 60 16
60 — 80 10
80 —-100 6

41. India adopted a three dimensional approach in poverty alleviation.
(a) Analyze the programmes towards poverty alleviation.

(b) Critically assess these poverty alleviation programmes.

FY-35 10
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36. 9VEVR CMLOGAV)BHOBH)0la] 30) B)0la] OYI00HN)H:.

37. anaes M@FIAIClenmm BOMBBURB OalcoUla] HRITY 3008 8ogdlal’ caod Bom
aogdlal’ ag)amlal QIS

oAU | @RI
0-10 5
10 —-20 10
20-30 15
30-40 20
40 -50 10
50-60 10

38. 1990 ®&le8 shamy MSa LGl 9BIRAIMGHOEM MWEBRNS CINAIW WM B0}
caalellene Mld)ol canieiielo MSaled AO)OBI® al@layooRyd QllvdBRIEe)H:.

39 2)®@3 41 116EVBB G133 aBO®BILN0 2 af)INAVIM DOMOHA) @),
8 ME®0a allmo. 2x8=16)

39.  avaudle allermOTBImMSs @a@6BU3 AllVdd:EIMo 61010 b,

40. 21j016S M@BHIQAUWI@3 WMo MW Yo AW af)ATIQ HEMNENIBND

OV | @ROIEOI
0-20 2
20 - 40 6
40 - 60 16
60 — 80 10
80 -100 6
41. sodlEy  MIBIBRMEWIMIW qudilalm@oem DA I@3
milaalafldlenmana.

(a)

(b) Bo@IEY WRMIARRM a1GlaldSl®e8 AlladudMIGR G200 alleIR])TTM)H:.
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